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m Which of these division calculations is m A room has an area of 24m?2.
more difficult than the others? Explain
your answer. Tick all of the dimensions that the room
could have.
A)  490=+7 C) 294+3
B) 7208 D) 360:6 A LENGTH=6m, WIDTH=4m

B LENGTH=6m,WIDTH=6m

C LENGTH=10m, WIDTH =2m

D LENGTH=8m,WIDTH=3m

1 mark

m A number is rounded to 173,500 when
rounded to the nearest hundred.

It is an odd number.

1 mark Every digit in the number is different.

What could the number be? Write three
possible answers.

or

2 marks
°

w?  THIRD SPACE LEARNING © Third Space Learning 2018. You may photocopy this page.



